

VAMOS A SUMAR

1.- Une con la alternativa correcta:

$$\begin{array}{|c|} \hline \text{1 dot} \\ \hline \end{array} + \begin{array}{|c|} \hline \text{3 dots} \\ \hline \end{array} = \begin{array}{|c|} \hline 5 \\ \hline \end{array}$$

$$\begin{array}{|c|} \hline \text{2 dots} \\ \hline \end{array} + \begin{array}{|c|} \hline \text{2 dots} \\ \hline \end{array} = \begin{array}{|c|} \hline 4 \\ \hline \end{array}$$

$$\begin{array}{|c|} \hline \text{2 dots} \\ \hline \end{array} + \begin{array}{|c|} \hline \text{1 dot} \\ \hline \end{array} = \begin{array}{|c|} \hline 7 \\ \hline \end{array}$$

$$\begin{array}{|c|} \hline \text{4 dots} \\ \hline \end{array} + \begin{array}{|c|} \hline \text{1 dot} \\ \hline \end{array} = \begin{array}{|c|} \hline 3 \\ \hline \end{array}$$